2.

5.

6.

If log; 2 =m, then log,, 28 is equal to

(A) 2(1+2m) (B) “22’“
©) —=2 (D) 1+m
1+2m
a+b 1
If loge[ > J = E(Iog'Z a+log, b),
relation between a and b will be
(A) a=b B) a- %
b
(C) 2a=b D) a= 3

Which is the correct order for a given number

a in increasing order

(A) log, a,log; a,log, ,log,, &
(B) log,, @,log; a,log, a,log, «
(C) log,, @, log, a,log, ,log, «

(D) log; a,log, a,log, a,log;y a
If log, x.logs k =log, 5,k # 1Lk > 0,then x is

equal to

2 4
(A) k (B) 5 ©s5 D) =

If logs a.log, x = 2, then x is equal to

(A) 125 (B) a*
(C) 25 (D) None of these

If a® + 4b* = 12ab, then log(a + 2b) is

(A) %[loga+logb—1092]
(B) log%+log%+log2
(©) %[loga +logb + 4log 2]

(D) %[loga—logb+4log2]

then

7.

10.

n.

12.

13.

If A=log, log; log, 256 + 2log 2,then A 1is

equal to

(A) 2 (B) 3 ©s5 D7

If log,, x = v, then log ;o X is equal to

@y B ©F o2
If x=log,(bc),y =log,(ca),z =log,(ab), then
which of the following is equal to 1
(A) x+y+z

B) 1+x) +1+y)? +1+2)"

(C) xvz

(D) None of these

If a=logy, 12,b =log s 24 and

¢ = log,g 36, then 1+abc is equal to
(A) 2ab  (B) 2ac  (C) 2bc (D)0

If @ = b,b¥ = ¢,c* = a,then value of xyz is

(A) O (B) 1 ©) 2 D) 3

If log,, 2 = 0.30103,log,, 3 = 0.47712, the

number of digits in 3'% x 2% is

A7 (B) 8 ©) 9 (D) 10

if logx _logy _logz .\ . which of the
b-c c¢-a a-b

following is not true -
(A) xyz=2

(C) xb+cyc+aza+b — 1

(B) xy’z¢ =1

(D) xyz = x*yz¢
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14.

15.

16.

17.

18.

19.

20.
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The number of real values of the parameter &
for which (log,, x)? - log,¢ X +log,¢ k =0 with

real coefficients will have exactly one solution

is-
(A) 2 B)1
C) 4 (D) None of these

If x =log;(1000) and vy =log,(2058) then
(A) x>y B) x<y
(C) x=y (D) None of these

If logs[logs[logs x]] = logs3, then what is the
value of x ?

A)3 (B) 27 (C) 39 (ID)y827

What is ]0g(a+ Va® +1 )+ log[—l—]
a+va’+1

equal to ?
W1 B0 (02 (D)%

What is the value of

log (Ej—lo 2 +log [é ?
210 8 £1o0 % 210 1)’

A3 (B) 2 ©)1 D)o

If (logs x)(logx 2x)(logac y) = logx X2, then
what is y equal to ? 0
A)45 (B9 ©)18 (D) 27

If logio 2, logio (2% — 1) and logio (2% + 3)
are three consecutive terms of an A.P.,
then the value of x is

A1 (B) logs2 (C) logz5 (D) logio 5



